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1 fnfE R 37 39 76 70
2 i ik 45 42 87 70.2
3 ik XEX 39 45 84 70.8
4 A E 38 39 77 72.2
5 bl 1& 48 50 98 72.8
6 BEXR = 41 38 79 73
7 WA H 49 41 90 73.2
8 =k —H 49 51 100 73.6
9 BRE $EX 38 37 75 73.8
&HF Kz 39 42 81 73.8
Bl [ER 42 44 86 74
R’E & 45 47 92 74
Il &% 43 42 85 74.2
Bim 18 45 45 90 74.4
LR EA 53 42 95 74.6
B8H A 45 50 95 74.6
=VE EX 48 53 101 74.6
B 51 50 101 74.6
[REA BEEX 48 39 87 75
;IO SRER 49 50 99 75
8 = 42 48 90 75.6
AKXk IEST 45 51 96 75.6
ZEH BER 44 44 88 76
HE E1T 50 50 100 76
EE B 38 36 74 76.4
NHE BA 44 42 86 76.4
g 45 47 92 76.4
gk YUh 52 52 104 76.4
EX 2 40 39 79 76.6
=tE E— 47 44 91 76.6
#HE 2 52 43 95 77
INE BA 49 52 101 77
BEE R 43 39 82 77.2
ha FX 52 48 100 77.2
RIE 1FFAR 43 49 92 77.6
M IERE 43 49 92 77.6
B EZF 48 50 98 77.6
Rl BUA 49 49 98 77.6
DH FF— 57 50 107 78.2
Il HE 52 55 107 78.2
ek F04= 54 52 106 78.4
O FI=E 57 55 112 78.4
B fEH 44 49 93 78.6
7l EC 55 50 105 78.6
£ H— 52 46 98 78.8
)l ErF 46 45 91 79
tE JHIE 49 48 97 79
508 X 48 49 97 79
BniE E=E 58 57 115 79
ERRK EIE 48 42 90 79.2
WE BAX 46 49 95 79.4
Hd F— 48 45 93 79.8
=H &7 46 53 99 79.8
HFE XX 46 52 98 80
M T2z 52 52 104 80
BEX BF¥ 62 54 116 80
A - 54 50 104 81.2
R KA 52 51 103 81.4
ER”RK FMF 56 59 115 81.4
A0 B& 46 48 94 82
EE =01 58 46 104 83.6
HwE FA 52 50 102 84
AR ER 60 58 118 84.4
Bl BR 50 48 98 84.8
#H FER 52 48 100 85.6
ZiR FER 55 61 116 86
fRHE X 63 59 122 86
st &= 55 53 108 86.4
ATH #%3 60 51 111 87
TE FE 58 58 116 87.2
ME AIZX 56 55 111 88.2
BHE =4 62 64 126 91.2
BTE X 73 58 131 95
FIER E K 62 70 132 96
HiH 55 71 63 134 98
KE B 69 75 144 108
ATE ZRIE 76 70 146 110




